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INSTRUCTION TO CANDIDATES

Immediately after getting the booklet read instructions
carefully, mentioned on the frontand back page of the question
booklet and do not open the seal given on the right hand side,
unless asked by the invigilator.

Write your Roll No., Answer-Sheet No., in the specified places
givenabove and do your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evatuated.

After opening the seal, ensure that the Question Booklet
comtains total no. of pages as mentioned above and
printing of all the 200 questions is proper. If any
discrepancy is found, inform the invigilator within
15 minutes and get the correct question booklet.:

While answering the question from the Question Booklet, for
each question choose the correct/most appropriate option
out of four most appropriate options given, as answer and
darken the circle provided against that option in the OMR
Answer-Sheet, bearing the same serial number of the question.
Darken the circle only with Black or Blue ball point pen.
Darken the circle of correct answer properly otherwise answers
will not be evaluated. The candidate will be fully responsible
for it.

There are 200 objective type questions in this Question
Booklet. 1 mark is allotted for each correct answeryy

No negative marking will be done.
Do notwrite any thing anywhere in the Question Booklet and
the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evaluated.
After completion of the examination, only OMR Answer-
Sheet is to be handed over to the invigilator. Carbon copy
of the Answer-Sheet and Question Booklet may be taken
away by the examinee.
This Question Booklet consists of Three Parts :
(i) AG1: (Physics, Chemistry, Mathematics and - :
Biology) - 80 Marks

(i) AG 2: (Crop Production and Horticulture) - 60 Marks
(iii) AG 3: (Elements of Animal Husbandry and

Poultry farming) - 60 Marks
Each question contains 1 mark. Allquestionsare cdmpulsory.
In case of any ambiguity in Hindi version the English
version shall be considered authentic. =~~~
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AG 1 | | AG 1

PHYSICS Hifaer e
1.  Watt-hour meter measures : 1. - Hie A9 S
(A) Electric energy (A) T =i
(B) Current (B) oM
(C) Voltage (©) S
(D) Power (D) wifert

2. No.of electrons in One Coulomb of charge 2. T M a9 B el i HE i HE

will be : B

(A) 5.46x10% (A) 5.46 x10%
(B) 6.25%x1018 (B) 6.25x1018
(C) 1.6x10% (C) 1.6x10%
(D) 9x101 (D) 9x1011

3. Which of the following has maximum 3. 7 H Q forment Tafere s sifteram @2

specific heat ?

(A) Water (A)
(B) Alcohol (B) UThIEc
(C) Glycerine ) frasi=
(D) Oil (D) <«

SPACE FOR ROUGH WORK / T& @Td & o s
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An ideal gas is expanding such that

PT2=constant. The coefficient of volume
expansion of the gas is :

1 - —
GV
2
B T
3
(C) T .
4
D) T

Consider a car moving on a straight road
with a speed of 100 m/s. The distance at
which car can be stopped is :

(e =0.5)

(A) 100 m

(B) 400 m

(C) 800 m

(D) 1000 m

In the circuit shown, A and V are ideal
ammeter and voltmeter respectively.
Reading of the voltmeter will be :

2V

!

10 10
2V
1V
05V

Zero

CIGICEC

T ATeY! e Wt PT2 = firaie ¥ siEn
TER BT € | T T ST YR TONE B

@ 3 .
® =
© 7
o =

T R Qs ggF W 100 9/ 9. 9o Y

e § Rt S 99 R % IvEE B

T UehT S Fehell & 7
(ux=0.5)

(A) 100 m

(B) 400 m

(C) 800 m

(D) 1000 m

feEm 73 aftae | A iRV syt wtex @ik
e § | dieertel &1 e B

2V

—

MMM
10 10
(A) 2V
B 1V
(C) 05V

(D) A
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7. In the figure shown, the ‘.effec’qiy.fe m7. = fﬂﬁﬁiA HHTB%Gﬁ?[H‘mGﬁ T &,
capacitance between the points A and B, - - et Y® M C 3, -

if each has capacitance C, is :

R ».
C C
(A) 2C (A) 2C
C C
B = B 3
(C) 5C | K (C) 5C
C C
D) - 0y 7

8. The resolving limit of healthy eye is ™ 8. oy a7 w1 fadied wen o B ¥

about :

] ° 1 ]' °
w vor(L) @ 17 (5)
(B) 1" (B) 1"
< r < 1

1" 1"
® = )

SPACE FOR ROUGH WORK: / T% %™ & ford 57
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10.

11.

Two solids A and B float in water. - It is

1
observed that A floats with = of its body

i

. 1
immersed in water and B. floats with 1

of its volume above the water level. The
ratio of the density of A to that'of B is :

(A) 4:3
(B) 2:3
(C) 3:4
(D) 1:2
The unit of molar susceptibility. is :
(A) m?

B) kgm3

kg~ lm?

No unit

The figure represents three cases of a ray
passing through a prism of angle A. The
case corresponding to minimum deviation

(1) (2)

(A) @)
B) (2
< @)
(D) None of the above

T SFAMBTAH KRBT A-om%

) 1
AT ST Y § 9 BT = AT STl & 18T

' BLA STRB F FFE o ST BN

10.

11.

(A)
(B)
(©)
(D)

=W N
N = W W

HITR TEUIiierd] o1 TR & -
(A) md

(B) kgm™3

(€) kg~ lmd

(D) TR

ﬁrﬁrﬁaﬁmm%ﬁr?—q(ﬁmw

A) QISR i 17 fearferat gofefa &1 =
forerer areft feafy 2

f’f\\ //\
7% 7%
1) 2
(A) @

B) 2

< ©

(D) IR H | HIE T

SPACE FOR ROUGH WORK / 1% = & ferdt smmg

Set- A

9210/ BE-AG/PP-M



- 12,

13.

The displacement y of a particle executing
periodic motion is given by

= 4eos? ud ~-sint000t— —
2

This expression may be considered to be
a result of how many independent simple
harmonic oscillations ?

The pulleys and strings shown in the
flgure are smooth and of negligible mass.
For the system to remain in equilibrium,
theiangle 6 should be :

|
.0

(A) 0°
(B) 30°
(C) 45°

(D) 60°

12.

13.

T ST T X g TR 0T T foreemad
y THTRT

‘ = 4cos> (—%j —sint000t———

T weitfa B §1 g =t TR weed

.WWW%QWWWW

ST T © 2
(A) 2
(B) 3
C) 4

(D) 5

oz ¥ <ofs e, FrfEl wd um e e
gER ¥ FreEm % wwen % e g

(A) 07
(B) 30°
(C) 45°

(D) 60°
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14. An astronomical telescope has a 14. Q'GF @TﬁFﬁT{ W‘ﬂ'f EE’T SICET) «?dTR'lT 10 %
magnifying power of 10. The focal length ﬁﬁlﬂ # HE =l 20 cm % Ll aaf EFEED
of the eyepiece is 20 cm. The focal length o Eff Y T ’EﬁTﬁ =
of the ob]ectwe is :

(A) 2cm (A) 2cm
(B) 200 cm (B) 200 cm
o = oy L

©) 5 cm Q) 5 cm
D L D 1

D) 0o (B) 200 m

15. A watch shows time as 3 : 25. When seen 15. Q"GF ‘5@} o arfos 95 3:25 %’l Gﬁf 3@
through a mirror, the time appeared will T SO R @ S @ T R
be :

(A) 8:35 (A) 8:35
(B) 9:35 B) 9:35
(€ 7:35 G 7:35
(D) 8:25 (D) 8:25
_ SPACE FOR ROUGH WORK / T% &1 & fol sre
Set - A 9210/ BE-AG/PP-M



16.

17.

Two metal cubes A and B of same size  16.

are arranged as shown in figure. The
extreme ends of the combination are

maintained at the indicated

tempeaures. " The arrangement is
thermally insulated. The coefficients of
thermal conductivities of A and B are
300 W/m.°C and 200 W/m.°C
respectively. After steady state is reached,
the temperature of the interface will be :

3 ' B A\

100°C{ A [/B::}0°C

(A) 45°C

(By 90°C

(C) 30°C

(D) 60°C

An infinite sequence of resistances is 17.

shown in the figure. The resultant

" resistance between A and B will be, when

R,=1Qand R,=2 0

TF & SR & < uifes wH A 991 B ®
1o SIS T A1 ¥ ) g % A Rl
o A <o T AoEE o feer T S R |
o7 fa=me SoTRIfa 81 argel A 991 B
ST =TT o FHY: 300 W/m.sC adl
200 W/m.°C ¥, el Tl Sfereen § WY &
qAIIE B

B\ AN\

100°C{ A [-7BI10°C

AW AW

(A) 45°C

(B) 90°C

(C) 30°C

(D) 60°C

fedr g2 ot o w1 o1 TR T
T ®1 SRR, =10 W R,=207F, @
A 3R B fargail & st aftoreft wfade &

Ry Ry Ry Ry Ry Ry Ry Ry
A — MWA g_/vw\_. V\_J_va\_)].__.. AW I_.PNV\_’!_.-W\«\_|AM\_J_....

RZ RZ §R2 § R2 R2§ gRZ §R2 g RZ
P 1 1 ... B [ | | l ...
(A) Infinite (A) ST
(B) 10 (B) 10
) 20 © 20
(D) 159 (D) 150

SPACE FOR ROUGH WORK / T® & & fod wswe
Set - A
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18.

19.

20.

The rate of radiation of a black body at
0°C is E Joules/second. The rate of
radiation of black body at 273°C will be :

(A) 16E
(B) 8E
(C) 4E

(D) E

A bar magnet is oscillating in the earth’s
magnetic field with time period T. If its
mass is increased 4 times then its time
period will be :

(A) AT
(B) 2T
© T

(D) T/2

A current of 2 A passing through a
conductor produces 80 Joules of heat in

10 seconds. The resistance of the

conductor is :
(A) 05Q
B) 20

C) 40

(D) 20 Q

18.

19.

20.

0°C R Fwy fyvs & fafww s &7
E S[o1 91 90 &, 1 273°C W o ot
EaR il

(A) 16E
(B) S
(C) 4E

(D) E

TF TUS ek et & grhty @9 § Qe
F T T, THH Qe T A e
RS 4 T S <1 ) 591 Qe e
B A

(A) AT
(B) 2T
© T

(D) T/2

ot =ers @ 2 A Y uR 10 Y9 T

e B TR 80 <ot S S Bt B 1 wreres
Wﬁﬁﬁﬂ'&ﬁ"'ﬂ

L

(A) 050
(B) 20
€ 40

(D) 200
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 AG1
CHEMISTRY

o AG1
TETIA ITEA

21. A 50 ml solution of pH=1 is mixed with ~ 21. pH=1 9=l TH 4@ 7 50 ml, pH=2

22,

23.

50 ml solution of pH=2. The pH of the

mixture will be nearly :
(A) 0.76
(B) 1.26
(G 1.76
(D) 2.26

Which one of the following impurities
present in colloidal solution cannot be

removed by electrodialysis ?

(A) Sodium Chloride
(B
(
(

~—

Potassium Sulphate

@

) Urea
D) Calcium Chloride

B'ad‘ioéi‘c't.ivity Qf a radioactive:eleme_nt
remains 10 of the original radioactivity
after 2.303 seconds. The half life period

A) 2.303 sec
B) 0.2303 sec
C) 0.693 sec
D) 0.0693 sec

22,

23.

1e e 3 50 ml % | e | fagor
T pH ST BT

=1 F 9 o ergfs = wemersa faaaa |
Jufeorg sTyfaal # @ soRemARE |
fremifaa <@ foman sn v ?

(A) Hifead TS
(B) difiem wehe
(C) df

(D) hicerem FAES

w ifedufea T@ w1 e wfFam
2.303;@@33@' yrfyer Year wfwaam @

1_16 w1 ord oy we ¥
(A) 2303 EHTS

(B) 0.2303 9HUE

(C) 0.693 HFHTZ

(D) 0.0693 §HTE

SPACE FOR ROUGH WORK / T% & & o sg
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24. A certain compound gives negative test 24 Y= A frese % g s
withninhydrin and gives positive test with we W € dafewe faeram % RS
Benedict’s solution, the compound is : , WWﬁWéﬂT %, i ¥

(A) a protein, (A THEYEM
(B) alipid (B).. T fafys
(C) a monosaccharide . (€) U= ﬁlél@’%(ié%
(D) an amino acid (D) - T THAI 37

25. A compound [X] undergoes reduction  25. & Hfirw [X], ‘LiAIH4 BRI TR0 Beh
with LiAIH, to yield [Y]. When vapours AifiteR [Y] <@ &1 <= [Y] % a9 = ar
of [Y] are passed over freshly reduced STehd TS W W 300°C WX Yefed R e
copper at 300°C, [X] is formed. The & @ [X] Tt g %ﬁl At [Y]#
compound [Y] is :

(A) CH,COCH, (A) CH,COCH,
(B) CH,;CHO (B) CH,CHO

(C) CH,CH,OH (©) CH,CH,0OH
(D) CH,-O-CH, (D) CH;-0-CH,

26. Analy31s of an organic compound gave  26. @WWWWWTW
74% C, 8.65% H and 17.3% N. The 74% C, 8.65% HTH 17.3% N a1 & | s
empirical formula of the compound is : T AT AL
(A) CgHgN (A) C5HgN
(B)  CyoHpN (B)  CyHpN
(C) CH/N (C) GCyH,N
(D) CpHN (D) CyoHyyN

SPACE FOR ROUGH WORK. / T & fod wre
Set - A 12 9210/ BE-AG/PP-M



27. On the basis of Bohr's model, the radius 27. SR HieA & AN WV ﬂ?ﬁq % &l

of the 3™ orbit is : T
(A) Equal to the radius of first orbit (A) THFHHR P E g
(B) Three times the radius of first orbit (B) 9ud &1 &t 5 o1 < T
(C) Five times the radius of first orbit (C) gy e T T 1 Ui A
(D) Nine times the radius of first orbit (D) woH el Fi T &1 A

28 Hg™ " CH;MgBr Hg** CH;MgBr

+ HC=CHE g5 Al o B 28. HC=CH H,50, (Al o [Pl
lP /Br, lP/ Br,
[€] [C]
The compound [C] is : AR [C]1%:
Br ' Br
! |

(&) cH,~CH-CH, (&) cH,-CH-CH,
(C) CH,=CHBr (C©) CH,=CHBr
(D) BrHC=CH-CH, (D) BrHC=CH-CH,

29, The volume of water to be added to 29. 100cc 05 NHZSO4@@'@"TT'~C¥E1%|WW
100 cc 0.5 NH,SO, to get decinormal % T2 sTTavgs I 1 ST B

solution will be :

(A) 400 cc (A) 400 cc
(B) 450 cc ‘ (B) 450 cc
(C) 500 cc | (©) 500 cc
(D) 1000 cc (D) 1000 cc

SPACE FOR ROUGH WORK / & &8 & fordt s

9210/BE-AG/PP-M 13 Set - A



30. Rancidification of oil means after long  30. d = Caifeimrym &1 o1 oz ¥ fy oy
storage and in contact with air and A <k el I 5o TS T ok wees A e
moisture, oils develop unpleasant smell. I SHH g ST B S ¥ R HROE
This is due to : . — — —
(A) Reduction of oil (A) ¥ FT STTIIA
(B) Oxidation of oil (B) T T STRAeRTOT
() Hy(-irolysis of oil (C) T 1 SASTIEA
(D) Both (B) and(C) (D) (B)TWE (C) <Ml

31.  Match List - I with List - Il and select the ~ 31. =i - I 1 F=t - 11 ¥ gAfm % e =i
correct answer using following code : 1 HET | W&l W A7 wIfr
List - I List - IT T - 1 T - 10

(a) Vitamin B, (i)  Biotin (a) forrfim B; () wEnfe
(b) Vitamin B, (i) Retinol (b) ferift B, (i) AT
(c) Vitamin H (iti) Phylloquinone (c) foraf H (iti) RN
(d) Vitamin A (iv) Cyanocobalamine COECUEEDN (iv) EEARRIERITHA
(e) Vitamin K (v) -~ Thiamine (e) farafi K (v) gmEfa
@ () (© (d (o) @ () (© () (o
(A) ) (v) @ @) () (A) v Gv) @) @) ()
(B) () (v) @@ (@(v) (i) (B) () (v) O (@v) (i)
©) @) @ @ @) (v) ©) @) G @ @) )
D) @ @ (@@ @) (v) D) @) @) () @) ()
SPACE FOR ROUGH WORK / T% &r& & fod) S8
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32.

33.

34.

Among the following which are

mismatched ?

Hard soaps - Sodium hydroxide
Soft soaps - Sodium carbonate
Transparent soaps - Ethyl alcohol
Medicated soaps - Bithional

(a) and (b)

(a) and (d)

(b) and (c)

(b) and (d)

Consider the following reaction

CH,OH

PCl
5, [A] KCN

> [B]
l H,0
(€]

The end product [C] is :

(A)
(B)
©
(D)

HCOOH
CH,COOH
CH,CN
CH,CONH,

NPK fertilizer contains :

(A)
(B)
(©)
(D)

2% N,, 8% P,05, 4% K,0
8% N, 2% P,0O5, 4% K0
4% N,, 8% P,0;, 4% K,0O
4% N,, 8% P05, 2% K,0

32,

33.

34,

foret % wea HA-T Al T §?

FOR WA - WISIH TRSERS
TG HEA - WieIH HEAE

yREe WA - Ui ek

(

() oifag weE - fafEr

(A) (a) T (b)

(B) (a) TH (d)

©) (b) T ()

(D) (b) T (d)

frer erfufren ) fomm wifs@

CH,OH PCls, a1 KEN, (5
leo
(€]

sifam s [C] ®

(A) HCOOH

(B) CH,COOH

(C) CH,CN

(D) CH,CONH,

NPK 3t o i #

(A) 2% N, 8% P,0,, 4% K,0

(B) 8% N, 2% P,0;, 4% K,0

(C) 4% N, 8% P,0;, 4% K,0

(D) 4% N, 8% P,0;, 2% K,0

SPACE FOR ROUGH WORK / T% & & fod se
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35. Among the following which is/are not

affected by change in temperature ?
(a) Normality

by Molarity

(c) Molality

(d) Mole fraction

(A) () and (b)

(B) (b) and (c)

(©) (o) and (d)

(D) (b) and (d)

36. Among the following solutions, which
has the highest pH ?

(A) CH,COOK
(
(
(D) NH,CN

=

Na,SO,

0

) NH,CI

37. The sulphur content of cystine is 26.7%
containing two sulphur atoms per
molecule cystine. The molecular mass of

cystine is approximately :

35.

36.

37.

=1 4 @+ T afeds § vt @
BT g ?

() AW
(b) I
(c)  HieTer
(d) =g
(A)  (a) T (b)

® BT

(
©) (© ()
(D) (b) W ()

71 fererarl o wear ferment pH werifers §2

(A) CH,COOK
(B) Na,S0,
€ NH,I
(D) NH,CN

o o wew 26.7% & T wfd o1y & wew
T A § 8, R # enifoae T
T E

(A) 60 (A) 60
(B) 120 (B) 120
(C) 180 (C) 180
(D) 240 (D) 240
SPACE FOR ROUGH WORK / T% %1 & fod srg
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38.

39.

40.

The gold number of A, B, C and D are
0.04, 0.002, 10 and 25 respectively. The
protective power of A, B, C and D are in
the order :

(A) A>B>C>D
(B) B>A>C>D
(C) D>C>B>A

(D) C>A>B>D

Among the following which one is not the

characteristic of a fertilizer ?
(A) It must be soluble in water.

(B) It should not disturb the pH of the
soil.

(C) It should be easily assimilated by
plants.

(D) It should be highly stable.

Which among the following alkanes
cannot be prepared by reduction of
alkyne ?

(A) Methane
(B) Ethane
(C) Isobutane

(D) Neopentane

38.

39.

40.

A, B, C a9 D & WU T&I FHHI: 0.04,
0.002, 10 W& 2581 A, B, C Td D &t 1&70
VIRt oRT S H BT :

(A) A>B>C>D
(B) B>A>C>D
(€C©) D>C>B>A

(D) C>A>B>D

=1 & Teg S W 3o w1 iR o
T e?

(A) I% 51 | oo g =nfed |

(B) ¥ TR % pH & uREfda T wT
=fed |

(C) I T ¥ IR G STaenioa g
=Med |

(D) I% ercafes Tl B =hed |

1 & T for woohe Rl UohTeA & STY=aH
T ST G ST T 2

(D) Treid=a

SPACE FOR ROUGH WORK / T% &md & fed s g
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AG1 AG1

MATHEMATICS TfuTa
41. The value of
v 41. sin®Z + sin? Sm + sinzS—Tr + sinzzrE ED
.2 . 2 3 . 2 5 , o7 8 8 8 8
sin” — + smn°— + sin“ — + sin“ —
8 8 8 8 HHE 81
is:
(A) 1 A) 1
(B) 2 (B) 2
1 1
1— 1=
© 13 © 13
1 1
2— 2=
D) 25 (D) 25

a' +b"
42. If Arithmetic mean of a and b is 42. A a iR b w1 FHRR ez a_n_T +b“-_1
a +p"
;ﬁ-— 1 + bn— 1

is :

, then the value of n ?f,‘cﬁnﬁlm?%ﬁ"ﬂ:

(a) 1 VN
B -1 B) -1
© 3 ©
2 2
(D) 2 (D) 2
43, If A =sind5° + cos45° and 43. 3fg A =sind5° + cos45° GRd)
B =5ind4° + cos44° then : B=5ind4° + cos44° |, 1l :
(A) A>B (A) A>B
(B) A<B (B) A<B
(C) A=B (C) A=B
(D) None of these (D) =79 & #E 7

SPACE FOR ROUGH WORK / 1% &1 % o wig

Set - A 18 9210/BE-AG/PP-M



44, If Iog; . log; = 2, then x is equal to : 44.

(A) 125

©) 25

(D) 5a?

45. The sum of the series 45,

(V3 -1),2(2=3), 2(3J3 =5), . . e

1s :

RIS log; : log: =72 % T x % 99 B8R :

(A) 125

(B) a2
€ 25

(D) 5a?

gofy

(V3 -1),2(2-3),2(3/3-5), ..... oo
FATME

&) V341 (B) 541
® 3-1 B) V3 -1
) 2-43 < 2-43
D) 2+3 D) 2+3
46. If series 46. afg 9ot
S:1+E+1ﬂg~+~6—5—--+-._...+uPt’0n S::—l-+—5+19— €)§+ _____ + n &I
3 9 27 81 3 9 27
terms. Then the value of Sis : ah @, ASH AT
(A) 20— 1 (A) 20 -1
B) 3" -1 (B) 30 -1
c 11—[311 211] c n_[?)n__‘?n]
( ) 211 ( ) 2]’1
. 2(3™ —2n) 2(3™ —2n)
(D) n- o (D) ==
SPACE FOR ROUGH WORK / % &Td < fotd <7 Tg
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47.

48.:

49.

IE 0 sinA +sinB 4+ $inC'=3,

Daily: wages (in %) of 7 persons are ‘as

follows :

12,7,-15,16,17, 19,25

Then the quartile deviation of the daily

wages is :
(A) 14.5
(B) 5
© 9

(D) 4.5

then
cosA +cosB + cosC is equal to :

(A) 3
(B) 2
€ 1

(D) 0

cos(A + C)
cos(A- O’

tanA, tanB, tanC :

If.. cos2B = then
(A) in AP.
(B) in G.P.
(C) in H.P.

(D) None of these

47.

49.

7 sl & e a7 (T H) frer &

12,7,15,10, 17, 19, 25

e 2fter da7 w1 =g fa=em g -

(A) 14.5
(B) 5
€ 9

(D) 4.5

4f8 sinA + sinB + sinC = 3 @
cosA + cosB + cosC T HH BN

(A) 3
B) 2
© 1

(D) 0 :

qﬁ: cos2B = %ﬁ-j—% , Gl
tanA, tanB, tanC B

(A) AP.#H

(B) GP.H

(C) HP.H

(D) =79 9 =i &

~ SPACE FOR ROUGH WORK / T% #14 & forl <1Tg
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50.

51.

52.

If co-variance between x and y is 10 and 50.

variance of x and y is 16 and 9
respectively, then the coefficient of

“correlation between x and yis
(A) 0.61
(B) 0.83
© 079

(D) 0.93

The sum of square of deviations for 10 51.

observations taken from mean. 50-is 250.

The Cdé.fficielltvofi variation is :
(A) 10
(B) 30
(C) 40

(D) 50

Arithmetic mean of two numbersis 7 and 52,

product is 45. Find the numbers.
(A) 9,5

(B) 9, 45 o
(C) 15,3

(D) None of these

AR 2 qY y % S TETERO10 & AT 2 T2

% JETOT A 16 A1 9 B, W x ATy F S
e TN ¢

(A) 0.61

(B)

(C) 0.79

0.83

(D) 0.93

=g Yeoll & forg, \rem 50 | fag v e

.k oI ST IR 250 B, A TELO o7 B

(A) 10
(B) 30
(C) 40

(D) 50

aﬁ@raﬁammmwvaﬂxm‘%
¥ Semd I i

(A) 9,5 |
(B) 9,45
©

(D)

15, 3

T8 9 =8 T

SPACE FOR ROUGH WORK / 1% &1 & &9 wig
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53. If two arithmetic mean of two numbers 53. afs T wemed a gb % EiCE| HHFR A1

a and b are A; and A,, Geometric mean Ay, Ay, T T TUITR HIE G, ,_Gz_%,_ at
Ay +A A+

are G;, G,, then the value of Gll _G;— ﬁz 1 | BT
is :
A a+b A a+b
(A) ab (4) ab

a+b . a+b
(B) 2ab : (B) 2ab
c 2ab c 2ab
© a+b (©) a+b

ab ab

54. The ratio of the maximum and minimum  54. 2— cosx + sin2y T TRHAT T4 T AqH

value of 2 — cosx +sin?x is : T B ST B -
A @ 1
® - o 2
© 3 © 3
(D) None of these g _ (D) T @ e =i

SPACE FOR ROUGH WORK / T% &1 & fod 37
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1 — 4 sin10° sin70°

55. The value of expression 55. 2 sinl0° T A 20
1 - 45sinl0° sin70° =L B
2 sinl0° — -
A + A) = |
A 3 (A) 3
(B 1 (B) 1
© 2 (C) 2
D) 0 D) o
56. Which term is zero in the series 56. 27, 24,18, ..... & HH-91 T N 2?2
27,24,18, .. ... ?
(A) 8 (A) 8
(B) 9 (B) 9
(© 10 (C) 10
(D) 6 (D) 6
57. If 57. afg
logi =a and log; =a @el
log? = Db, then logd =b g
log3 isequal to: log? o1 HM BT :
A LIS A L
A 2217 A =77
3 1. . 1
B %7 T
(C) 2ab + 1 (C) 2ab + 1
D ! D !
(D) 2ab —1 (D) 2ab -1
SPACE FOR ROUGH WORK / T% T4 & & s7e
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58.

59.

60.

If a cosO+Db sinf=m and a sinb—b

cost=n, then a2 +b2=

(A). m’-n?

log? x log? x log?
x 8x 8y

o is equal to :
(A) x
B v
) =z
(D) xyz
The value of x, log,(x—3) <11is:

(A) (O 3)
B) © ¢

(C) (0, e+3)

(D) (3, 3+¢)

58.

59.

60.

Af€ a cosd +b sin=m T9T a sinf—b

_cosB=n, @ a2+ b2=

(A): m?2-n?
(B) m?2n?2
(C)’ n2—m?2

(D) m2+n?

log? x log¥ X log?
x OB 708 08y o o B

(D) xyz

log,(x—3) < i,xW‘THi% o

(4) (0, 3)

(B) 1 (0, ¢)

(G (0, e+3)

(D) (3, 3+e)

SPACE FOR ROUGH WORK / T% & % o se
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 61.

62.

63.

. AG1
BIOLOGY

If the number of Allele _pa_fi'rs is 3, then
which of the following would be the
number of types of genotypes in F-2

eneration ?

co

A) 03
By 09 w3

ity
Synthesis of one glucose molecule in C4

plant require the number of AT.P. is :

(A) 18

Earthworms are :

(A) Ureotelic when plenty of water is
available. bit

(B) Uricotelic when plenty of water is
available.

(C) Uricotelic under condition of water

scarcity.

(D) Ammonotelic when plenty of water

is available.

62.

63.

AG 1
Sita 9

afs wefer el F HE3 g, i Etﬁ42_q°l‘c.?r o
SRS o YR kit e = ° 9 Rt
B 7

(A) 03
(B) 09
(C) 27
(D) 20

-4 wIEH H TF B o A F WAool H
TEvae AL, W g Bt §

A) 18

=

(

(B) 30
(C) 36
(D) 38

aa_?&ﬂ%

(A)  FhERfers S99 Al | S 3T
BT |

(B) I{ I Elaiwwqﬂrﬁw SUTSH
AR

(C) aftreferss S& ot @ & R T

(D) STHFRfAR 5@ F=8 AR § S 9
SIS |

-~ SPACE FOR ROUGH WORK / T %4 & el g
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64. Pollen basket occurs in Honey bee on :
(A) Prothoracic leg
(B) Mesothoracic 1ég
Q) Metathoracic leg

(D) Union of thorax and -abdomen

65. Match the following :

(a) Scattered vascular
bundle

(b) Vascular bundle
in one or more rings

(i) Monocotyledonous
root
(i) Monocotyledonous
stem

(c) Vascular bundle (iif) Dicotyledonous

mostly >6 root
(d) Vascular bundle (iv) Dicotyledonous
upto2to6 ~ stem

@ b © (@
B @ v 6 G
B @) ) @) @
© @ (O @) i)
D) (v) @ @ i)

66. In which of the following classification
462 families and 40 orders are
recognised ?

(A) Classification of Cronquist
(B) Classification of Takhtajan
C) C(lassification of Thorne

(
(D) AP.G. Classification

64.

65.
(@)

)

©

(d)

66.

++ TRATERYT ST SR HEHeRET | W ST Y

(A) EEE g o
(B) WIS urg §
(C) Ao Tre 3
(D) oNEH T 3R & WY o |

forat gu @) T S

RERSIEE] Sg

TH A HAYE R T (i) T S
- o sed B E

T 6 9 st (iti) fefrsr ot

29 6TH (iv) Tgatsr

HgT ded RIS

(@ (b) (o) (d)

A) @) () @) i)

(B) @) (@Gv) @) ()

© @ @ (v) (i)

(D) Gv) () @ (i)

=1 J @ form affemtor 462 %1 w5 40 07
e T ? ' ~

(A) FHRFRE FI AT
(B) OGS I e
(C) o =1 Fefieur

(D) TR Feitem

SPACE FOR ROUGH WORK / 1% &1 & ot wnrg
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67.

68.

69.

In insect oxygen-is:carried to different:

tissues by :

(A) Diffusion through surface

(B) Trachealtubes
<) Resplratory pigment through blood
(D) Gills

Read Statement and Reason and then
select answer :
Statement (S)

Arthropoda are the most successful of all

\ known animal groups.

Reason (R)

- Arthropoda exhibits the greatestadaptive

radiations and have adapted to diverse
habitats.

(A) Both (S) and (R) are true and (R)
explains (S).

(B) Both (S) and (R) are true but (R)
cannot explain (S).

(C) Only (S) is correct, (R) is wrong.
(D) Both (S) and (R) are wrong.

Bulk method is used for the breeding of
which of the following crops ?

(A)  Self pollinated crop

(B) Cross pollinated crop

(C) Asexually propogated crops
(D) All the above

67.

68.

69.

Whie . SAadsH w1 Hare fafis Saw a6
AT

(A) ¥ fom g

(B) tfammﬂfﬁmﬂm —y =
Q) ’mﬁwﬂnﬁz%m

(D) et % gr

A 7T HWUT T3, TIY IR S -

| EL KN i
et w1 wﬁaﬂeﬁq‘@ aatfwm%l

T (R) :
e fafi YR % AT T9H ¥ SEAA 81

(A) (S)aw(R)?ﬁw%w (R), (S) T
TG T |

(B) (S) 7 (R) I 7 ¥ W (R), (5)
T S TR T Fohdl &1

(C) e (S) ¥ &, (R) T
(D) (S) T (R) THI 7Terd & |

qs fafy & 3w = 4 9 g wwa &
sAfusr % ford fopan s 2

(A) & AT wEe-

(B) R YUfiT wE

(C) IfiTEw A9 wHa,

(D) I Gt

SPACE FOR ROUGH WORK / T% & & &9 smg
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70.  Which of the following method is used ~ 70. fr=t § 9 forr farftr =1 soivT = oy gt
for cross pollinated crops ? % for e s &2 '
(A) Mass selection (A) wE=IA .
(B) Pure line selection (B) Y% dfert ==
(C) Recurrent selection (C) 3Tadt ==
(D) All theabove - & ° (D) S Feit
71.  Lateral roots originate from which of the ~ 71. 9wel Teil @t S fre §f 9 forwd it 22
following ?
(A) Endodermis (A) &=
(B) Pericycle | (B) uftT
(C) Cortex (©) TP
(D) Hypodermis (D)  sTeEn
72.  Bulliform cells are found in which of the ~ 72. T 4 ot et e W ¥ 2
following ?
(A) Dicotyledonous Leaf (A) Tgsits wsit o<t
(B) Dorsiventral Leaf | (B) ToTHR wwit
(C) Isobilateral Leaf (C) gy it
(D) All the above (D) 3T 9ot
' SPACE FOR ROUGH WORK / T% %t % fordl sime
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73.

74.

75.

In cockroach: enzyme cellulase is;; 73:

produced by :
(A) Saliva
(B) Lining cells of midgut

(C) Bacteria in midgut

(D) Cellulose is not metabolised . .

Blood pigment of annelida is : - T 74.

(A) Hemoglobin
(B) Cyanin
(C) Haemanin

(D) Haemocyanin

Which of the following hormone is 75.

responsible for delay of senescence in

leaves of Xanthium ?

SHeRre H AT TTgH e 8 2 o

(A) TRE
(B)_ qwaa_isr CORSHRACARCa s
(C) weme H ey |

(D) SelSt 1 SuTq=rd e Jer &

_ TeltET § Te. SRS (pigment)

Stferm 1 afaal o Sivim &1 <8 F fod

o ToTeR i A A w2

(A) Auxin (A) AR
(B) Gibberellins B) foefem
(C) Cytokinin (C) WIgErhrEi . !
(D) A.B.A. | (D) TS
. SPACE FOR:ROUCH WORK /- TF & & foml sg
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76. Match the following : 76.. Sfed. gy Sifegd
Respiratory Respiratory vaaq FERR|
Substrate Quotient ugref T
(a) Carbohydrates (i) Zero (a) HEEEYIE G =
(b) Organic acids Gi) 1 (b) et o (i) 1
(c) Fats (i) >1 © o i) >1
(d) Succulent plants (iv) <1 (d)- HIES 9y (v) <1
(@ () (9 (d @ () () (d
(A) @) @) @ (@) (A) @) @) @ @)
(B) @) i) @(v) @ | (B) (i) (@) (@v) @)
© @ @ (Gv) () © @ @ Gv) (i)
D) @) Gv) @ () (D) @) Gv) @ ()
77.  Which animal group maintains high and ~ 77. <[ %1 %M 9 99¢ o= a«1 fer v &
constant body temperature ? AITH SR T & 7
(A) Reptiles (A) T
(B) Amphibians (B) WA
(C) Birds (C) wsht
(D) Fishes (D) e
SPACE FOR ROUGH WORK / T% T8 % fodl g
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78. Read Statement and Reason and then 78. YA TqA 'GETTUT‘?%, FYTET ST IR
select answer :
Statement (S) : RYH (S) :
Honey bee queen copulates only once in HYEFRET TE'T 3T‘3I'}[_Tfﬁ?>|'=f EF_R'Tff AT Tah AR
her Tifetime. R - TeA TR T )
Reason (R) : T (R) :
Honey bee queen can lay fertilized as well Tt wyAeRet o= qe AFTI= ST 3102
as unfertilized eggs. G
(A) Both (S) and (R) are true but (R) is (A) (S) e (R) SFT W&t . § . (R) T
not the correct explanation. ST 7R © |
(B) (S) is true but (R) is wrong. . (B) (S) Wl & 9 (R) o €1
(C) Both (S) and (R) are wrong,. (C) (S) a1 (R) SHI TTera ¥ 1
(D) Both (S) and (R) are true and (R) (D) (S) 91 (R) ST W&l § 1 (R), (S)
explains (S). AT FHT@ ¢ |
79. Basal placentation is a character of which ~ 79. R sisve=d = § & vy 3@ &1
of the following family ? AL 7 ? e
(A) Cruciferae (A) FHH
(B) Solanaceae (B) e
(C) Malvaceae (C) Wt
(D) Compositae (D) wEIfSTRt
80. Match the following : 80. 3fem Hevy Sifed .
(a) Monoadelphous (i) Cucurbitaceae (a) UHEAM (i) Fpfaed
(b) Tetradynamous (ii) Leguminoseae (b) rgETst (i) egrEAR
() Monocarpellary  (iii) Cruciferae (c) TUHSH (i) FHHEGA
(d) Pepo (iv) Malvaceae (d) @ (iv) AT
@ () (9 (@ @ () () (d
@) (v @ @@ A (v @) @) 6
B ) O @) @) B ) O @ @)
@ Gv) Gi) G @ © Gv) ) @ 6
D) @) @) 6 @ D) Gv) @) 6 @
SPACE FOR ROUGH WORK / % &/ & f&d we
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AG 2 AG 2
CROP PRODUCTION AND HH IS U SRt
HORTICULTURE
81. The number of acid lime trees per hectare 81. T I iR faify 3. a6 X 6 HI. I
planted at a distance of 6 X6 meter in T g TR G e % Ui+t den
square system of planting is : T
(A) 320 (A) 320
(B) 248 (B) 248
) 277 © 277
(D) 177 (D) 177
82. What is the full form of PACS ? 82. WTH.TH. (PACS) 1 0t &7 1 &7
(A) Primary Agricultural Cooperative (A) S Wiheoe HisaRies dramd
Society
(B) Primary Agriculture Crop Scheme (B) IEHI WHHTER 1T whid
(C) People and Agricultural Cropping (©) ive e wittheeet it @hiw
Scheme
(D) Problematic Agriculture Control (D) IERTAfF TR Fgie whid
Scheme
83. Soil having high concentration of soluble 83 7T o e EI‘WQQWW
salts and exchangeable sodium STt T 1 ¥ & Bl
percentage :
(A) Saline Soil (A) T o
(B) Saline-sodic Soils (B) T~ Hifes wa
(C) Normal Soils (C) HHT=
(D)  Sodic Soils (D) wifesh Ha1
SPACE FOR ROUGH WORK / T% & & & sTe
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84.

85.

86.

87.

Which one of the following is not a tall 84.

ornamental hedge ?

Tecoma

Neriyr—fdict——— = = =—
Acalypha

Thevetia nerifolia

The planting season of fruit trees vogue 85.

in India is :

A) June - August

(A
(B) February - March
(C) October - November

(D) Both (A) and (B)

Crops generally sown in October to 86.

December and harvested in February to

April is known as :
(A)
(B)
©
(D)

Rabi Crops
Zaid Crops
Kharif Crops

Seasonal Crops

The area that can be ploughed by a desi ~ 87.

plough in a day is :
(A)
B) 0.85 hectare

1 hectare

0.60 hectare
D) 0.30 hectare

frefafea B @ 9 @ =18 ol YREE
EISR
fesmrmn

gafear FRFEeTar

IRe B wergell o YIS H1 SUGE 9 ¥

(8)
(B)
(©
(D) (A) 7 (B) 3

S - T
W - HE
ITHRER — TR

A S WA TR Y fEreR T aret
St ¥ ud et e wEd 9 st % At
ST % S ST ST ©

(A) T HEA
(B) V&R WEA
(C) TF wEA
(D) HIEH w8

o9l v 50 U feE ¥ TR & Y S w6
EiRSEiN

(A) ThTR®
(B) 0.85 THRW
(C) 0.60 TRW
(D) 0.30 TR=I

SPACE FOR ROUGH WORK / T% &9 & ol e
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88. A farm asset is ? 88. e W& Wt W §?
(A) What a farmers owned (A) TEH F 9 ST B
(B) Farm produce and agricultural (B) w& I T EIREE]
implements
© What a farmer cultivated (©) T forEm gra wdt
(D) An account payable ‘ (D) & < @l
89.  Which one of the following is a variety of 89. ffafaa # = dt el o T TR & 2
radish ?
(A) Pusa Chetaki (A) TH =@t
(B) A:grifopnd White (B) THFRES The
(C)  Early Kunwari (C) el FHart
(D) Pusa Kataki (D) IET HIde!
90. Sprinkler irrigafion is also called : 90. foewer fH=mE 1 e S §
(A) Overhead irrigation (A) sieRee fo=rg
(B)  Trickle irrigation (B) fewma fo=md
(C) Underhead irrigation (C) 3ieee o=
(D) Gravity irrigation (D) Afafe fa=rd
91. The proportion of area under various 91. fafy=1 weel @1 w fifvem forg W & =
crops at a particular point is known as : ST oh! ST ST &
(A) Cropping system (A)  FEE T
(B) Cropping pattern (B) ™HEd WEY
(C) Cropping intensity (C) Ee e
(D) Monoculture (D) UsHA FY
SPACE FOR ROUGH WORK / T% &r& & fod se
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92.

93.

94,

95.

Name the dehydration process in which

products are placed at low temperature

with reduced pressure and then moisture
is removed in the form of ice high action.

(A)
(B)
(©
(D)

Freezing

Dry Cooling
Freeze drying
All the above

The critical stages of potato for irrigation
is/are :

Stolonization

B) Tubesformation

Tubes enlargement

All of these

Classification of soil in Chhattisgarh is as

follows :

Entisols, Inceptisois
B) Alfisols, Entisols
Vertisols, Entisols

Entisols, Inceptisols, Alfisols,

Vertisols

Canning of Guava requires how much
processing time for A-2.5 cans ?

(A) 10 min
(B) 15 min
(€) 20 min
(D) 25 min

92.

93.

94.

95.

BENEUEINERIEIREEREIEEEH
I HH ATIA H Go1 FH H @ § a1 3
T gR1 T Y ah % w9 H frere 21 €

1Te] 1 el W i i st
B S

(A) RIAMEHIA

(B) &g 1 S

(C) < I WG

(D) SHRIF Tt

TS § a1 Rl STieRtor R YR | e
™Y ?

(A) HER, SRET

(B) W, FER

(C) ¥, F8R

(D) FBR, SRE], 7T, 91T

see % fesameid # w-25 fesal & fag
o wa % fw STeE Y sTavaehar gl
g?
(A)
(B)
©
(D)

10 fe
15 fae
20 e
25 fae

SPACE FOR ROUGH WORK / T% &Td & o/l STIE
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96. Availability of gravitational water to the 96. TEETT UM drHl T B

plant is :
(A) More (A) =T
By tess —(By &= S
(C) Limited (C) Hifa
(D) Unknown (D) AT
97.  Pectin test is performed by using : 97. A wieror & START iR ST §:
(A) Alcohol (A) TR '
(B)  Spirit (B) fo=
(C) Jel meter (C) S TR
(D)  All the above (D) Sudaa weft
98. The main objective of tillage is : 98. TIeisl &1 Y@ ST R § ?
(A) Loosening soils (A)  9fa = g wE
(B) Breaking compact earth surface (B) iR I wae i A
(C) Improve aeration of soil (C) 4™ H IIRYT I ST
(D) All are correct (D) STgF H |t udt

99. Graftingis a technique in which following ~ 99. TR U ekl €, e frefafaa emog

are connected with each other : : H SIS 9 €

(A) Scion and Rootstock (A) @ TE qogd
(B)  Scion and Bud (B) Y@ UH HfcTent
(©) Scion and Root (C) v wE s
(D) All the above (D) SR H wdt

SPACE FOR ROUGH WORK / T% & & &8 se
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100. Mango is propagated through : 100. Fr=fafea o e fafy g o =1 yafda

ERIESIGIE
(A) Budding (A)  HicTHTA
_(B) Grafting . = = (B)— T o
(C) Soft wood cutting (C) Tg FIS FHaA
(D) All of above (D) SRR H |t

101. Application of 20 kg sulphur/ha in oil 101. foerea =t weel 9 20 fRm T ufg TR

seeds increases : T H i B ©
(A) Fat Content (A) o1 H AR H
(B) Protein Content (B) WIH i W H
(C) il Content (C) o< =t °EnH
(D) Starch Content (D) @ &t 7 |

102. Best time to prepare a farm inventory is : 102. Y& 3=l (D) T H JFE TR

(A) At the beginning of agricultural (A) F-6 o oy |
year

(B) At the middle of agricultural year (B) FHy-o1d & " |

(C) At the end of agricultural year (C) Ffu-a4 &% o1 4

(D) At any time (D) Tordl st 993

103. What is the contribution of agriculture in 103. SN SH.EL R, W Hft & ) ArieR fomet

national GDP ? g2

(A) 17 -18% (A) 17 - 18%
(B) 10-11% (B) 10-11%
(C) 20 -21% (C) 20-21%
(D) 14 - 15% (D) 14 - 15%
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104.

105.

106.

107. Seed rate of pigeopea crop is :

©

The optimum time of potato planting in
Chhattisgarh is :

(A)
(B)
©)
(D)

June - July
October - November ———
January - February

July - August

Neem coated urea is better than normal

urea because':

(A) Slow down the process of

nitrification of urea
(B) Reducing leaching losses only
' Leads to less gradual release of urea
(D) 'Highér' underground  water
contamination

Beetroot is packed on :
(A)
(B)
©)
(D)

Acid resistant cans
sulphur resistant. cans
Simple steel cans

All the above

(A)
(B)
(©)
(D)

5-8 kg/ha

8 - 10 kg/ha
12 - 15 kg/ha
20 - 22 kg/ha

104.

105.

106.

107.

GG H f7e] TS H1 STFH THI &+

(A) S - el

(By HAFLH - Tl — -
(C) Il - wEd

(D) S[ETE - 3T

1 Frs g S afe | Sew w6t § 2

9fan & TreRERe B ahE B e

FT |

Faet ST THaE + HH w1
Ife F o Bre 1 S w
SyfERTR et Y T o B ¥

(A)

Tl i Fesamet it o ©
(A) T TERiY fesdt
(B) HTH TRIYH feedl
©) IR e fest

(D) ST Wt

(A) 5.5 fom 9t S
(B) 8- 10 fom ufa TR
(€ 12-15 fwm gfq dR=
(D) 20 - 22 fomom gfq FReR

Set- A
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108. The length of ‘Engineer Chain’ is :

(A) 100
B) 80 ft
20 ft. :

(

(©)
(D) None of these
109. Canning medium for papaya is :

(A) Sugar solution of 55 - 60°

+ 0.1 - 0.2% citric acid

(B) Sugar solution of 40 .- 45°
+ 0.3 - 0.5% citric acid.

©
(D)

110.
for topiary ?

(A) Duranta

(B) Madhu Malati

(C) Chameli

(D) None of above

111.

Brix

Brix

Only sugar solution of 55 - 60° Brix
Only sugar solution of 40 - 45° Brix

Which of the following plants are suitable

Which of the following vegetable crops

has Asiatic and Europeari‘vayrietiesﬂ ?

(A) Brinjal

(B) Chillies
(C) Tomato
(D)

None of above

108.

109.

110.

111.

PR A TR A AR
100 w2 i
(B) 80 Wwie

0Fe
g oft &I

Tt i feser v =eA e ?

(A) 55 - 60° forerd =it st + 0.1- 0.2%
fafew s

(B) 40 - 45° fored =t =T + 0.3-05%
_ﬁr&aﬁ 3

HIA 55 - 60°ﬁsraqwﬁaﬁa
¥ 40 - 45°faaa€m%ﬂ=ﬁﬂﬁa

©
(D)

frefafan o @ #9 @r den wd won ¥
SUYH 77

(A) =gt

(B) WY wrewd

(©) =t

(D) ST H ¥ T

ﬁmﬁrf@raﬁmao—cﬁwﬁmqa
e fred St ® 2

(A) ST
(B) fe
(C) T
(D) T 9 FE
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112. Presently the cropping intensity of India

113.

114.

115.

(A) 100%
(B) 127%
(€ 137%
150%

“Zero Till seed cum fertilizer drill” is used

for :

(A) After harvest of kharif crops
(B) Soil have the proper moisture
(C) For sowing of rabi crops
(

D) All are correct

Pomology is the branch of Horticulture
which ‘deals: with the study and

cultivation of :
(A)
(B) Fruits
(©)
(D)

Ornamental Plants

Vegetables
All of above

The sugar percentage in sugarcane juice
1S :

(A) 2-3%

(B) 10-15%

(€ 15-20%

(D) 20-25%

112.

R H A H Tl e T v €

(A) 100%

113.

114.

115.

B) 127%
(C) 137%
(D) 150%

(A) GF FHA B FR I
(B) yfi # 3fead 7+ g™ W
(C) TS HEE H gIE ¥
(D) ST |eft W

qrrArst EA-fae w1 9% wren § S

Freafafes & feas e qo | @
e g ?

(A) woEE A
(B) wd

(C) afsar
(D) SR wt

T 3% T H, e A F IR WS

(A) 2-3%

(B) 10 -15%
(C) 15 -20%
(D) 20-25%
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116. What is the TSS value of ketchup ? 116. %99 H % o S =t T Bt %7

(A) 12 - 15° Brix (A) 12-15°F
= (B} J'é"" b 2{]0 Brix T i ‘ = - - (B)_ 1§_ 26, ﬁ . _ — =

(C) 23 - 250 BI'IX (C) 23_ 250 ﬁ

(D) 28 - 30° Brix (D) 28 - 30° for

117. The rooting' hormone in‘yv"égvedtatiﬁx)e 117, wﬁaﬁw@ﬁaﬂwﬁmwa‘qﬁa@wﬁr

propagation of horticultural crops is : H Werae BEH €
(A) Cycocel ‘ (A) W
(B) IBA B) T

(C) GA, (C) Toeifas tfae
(D) Ethephon( (D) 3I®EA

118. Which one is used for primary tillage ? 118, wrafes feorst o ford Soam o o &2

(A) Hand hoe | (A) TS
(B) Desi plough (B) '
(C) Mould board plough (C) Tice arE 7
(D) Blade harrow (D) =T

119. Which one of the following is a flowering 119, Tr=ifefed & 9 & Iofig ga7 €2

tree ?
(A) Kachnar : (A) FER

(B) Bottle Brush (B) dred T
(C) Champa (© ==

(D) All of above - (D) S H
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120. Which one of
non-selective herbicide ?

the: following is

(A)y Alachlor ——
(B) Butachlor
(C

(D

) Paraquat
) Atrazine
121. The function of seed drill is :
(A) To carry seeds
(B‘) To me;:er seeds
(C) To deposit seeds in furrow

(D) All are correct

122, Which products are formed under

principle of fermentation ?

(A) Alcohol, Acetic acid and Benzoic
acid

(B) Acetic acid, Benzoic acid and Lactic
acid

(C) Alcohol, Acetic acid and Lactic acid

(D) Benzoic acid, Lactic acid and
Alcohol

123. Butachlor is recommended for control of

weeds in :

(A) Maize

(B) Wheat

(C) Transplanted Rice
(D) Sugarcane

120. Fr=fafea 7 9@ FF 91 ) wgf@ Tioaer
BINE 2

—{Aj—w N
(B) <qIEAR
(C) TR
(D) T

121. G fgot =1 o i § 2
(A) oS & S

122. Tervam & fagia & oiela fa et =1 fmior
BT ?

(A) UeenrEld, Telifes st To Siigsh o7

(B) UHlifewm o7, S5k 319 TH ifseeh
TFe

(© e, eife oreer T e o
(D) S=iige 317, T oTRA U8 Ueehieial

123. T8 wwa # @UqaRr & e & fag
R §HA© 7
(A) weER A
® W
(C) J9ERt 9= |
(D) T™H
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124. Which of the following is the leaderinthe ~ 124. Frfefiad § § #1 ura ¥ sict WePw

field of cooperative marketing within the Taqum & & o 3ol § 2

India ? , g= - - e
(A) NCDC. (A) TR,

(B) NAFED (B) TTHE

(C) AGMARK ‘ (C) WM

(D) MARKFED (D) TIHFFS

125. Which type of loan is provided by Kisan 125. F9h & foram el ?ﬂ'é fog gHR =

Credit Card to farmers ? SROT Y FAT R ?
(A) Short term loan (A) STCU=RIfC R
(B) Medium term loan (B) HEAH Wi Rl
(C) Long term loan (C) <& e =
(D) All the above - (D) Wi weft
126. Primary source of nitrogen for plant is : 126. 9l & o e o1 wofass e Fn g ?
(A) Soil - (a)
(B) Water (B)y It
(© Air (© =
(D) Manures and Fertilizers (D) W& o 3

127. Available nutrient percentage in FYM are 127. TR @g B qIves qet e wmn § Soerey gt

as per the following : g:

(A) 050N, 0.20 P, 0.50 K __ (A) 050N, 0.20 P, 0.50 K
(B) 120N, 0.60 P, 1.20 K ' (B) 120 N, 0.60 P, 1.20 K
(€) 250N, 050P, 150 K (C) 250N, 050 P, 1.50 K
(D) 1.00 N, 0.60 P, 1.50 K (D) 1.00 N, 0.60 P, 1.50 K
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128. The recommended row to row spacing for 128. = aClt Yoot § HAR A FHAX HI T

bunch type of Groundnut is : WA

(A) 20-30cm (A) 20 - 30 841 S
(B) 30 -40cm (B) 30 - 40 &

(C) 40-50 cm (C) 40 - 50 &

(D) 45-60 cm (D) 45 - 60 G

129. Why 2% Calcium Chloride solution is 129, afesal & fesamsicl # 2% Sfewm wimse
used during canning of vegetable ? 1 ST A1 feRan ST © 2
(A) For softening vegetables A) wfssEl =1 w9
(B) For hardening of vegetables
(C) For protecting colour

(D) None of the above

130. Maize - Toria - Wheat - Moong rotation 130, FeRhT ~ QT - T ~ 7 =1 ! Weit fafyr

is termed as a system of : I fear T g
(A) Mixed Cropping (A) Therae wifdm
(B) Relay Cropping (B) Rt wifyw
(C) Multiple Cropping (C) weEae il
(D) Inter Cropping (D) 3 I
131. A ‘chain’ contains how many meter ? 131. T [ H Hiad HIT e 2
(A) 20.1168 (A) 20.1168
(B) 21.1168 (B) 21.1168
(C) 15.1168 (C) 15.1168
(D) 18.1168 (D) 18.1168
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132. Most commonly used nitrogen fertilizer

is:

~ (A) Ammonia sulphate
(B) Ammonium nitrate

(C) Diammonium phosphate
(D) Urea

133. Which one of the following orchard

lay-out system is followed on hills ?
(A) Contour system

(B) Triangular system

(C) Diagonal system

(D) Hexagonal system

134. Depth of furrow for irrigation should be :

(A) 5 -6 inches

(B) 8 -12 inches

(C) 12-15 inches

(D) More than 15 inches

135. Which one of the following are summer

annuals ?

(A) Portulaca and Kochia
(B) Cosmos and Sunflower
(C) (A)and (B)

(D) Daisy and Dahlia

132. G99 S SYAN § 8 SIH el TSl

HEAATE ?

(A e

(B) STHIFEM gL
(C) TrsHIFEH wivhe
(D) e

)

153. wgret &l # efafed 7 i 9 3am ie

! TGl ST S © 2
(A) g s

(B) TRt ugfy
(C) fo=mdl asfa

(D) i g

134. TH=E & Q501 9 o8 @ &1 TR e

e :

(A) 5-6%d

(B) 8-12%w
(C) 12-15%=
(D) 1539 9§ ST

135. f=fafaa 9 =19 4@ TisaRrE aiftfs

g e E 2
(A) IR TH i
(B) HIGHIE TE HTFAR
(©) (A)Ta(B)

(D) esft wd wwedtan
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136.

137.

138.

139.

140.

(A)

The most common disease affecting the
vegetable nurseries is :

(A) Powdery Mildew

(B) Wilt

(C) Black Rot

(D) Damping-off
Hard wood cutting is wused for
propagation of :

Grape

(B) Rose

(C) Pomegranate

(

D) All of above

“Feed the soil not the plant” is the watch
word for :

Eco Farming

(B) Sustainable Agriculture
©)
(

D) Precision Agriculture

Conservative Agriculture

The most valid law in agricultural
production is :

Law of Equi-Marginal returns

(B) Law of diminishing returns

(C) Law of marginal returns
(D) None of these

Advantages of farm records is :
(A)
(B) Basis for diagnosis and planning
(©)
(D)

Means of higher income

Basis for self evaluation
All the above

136.

137.

138.

139.

140.

Hosil THE] § o0 arelt T 3™ Sa §

(A) srfen I
(B) Tt UM
(C) TN HSA

(D) ST

Freafafed o fra WY & T6R 3 <3 FS
ST T ST foman S & 2

(A) S

(B) Tam

(C) 3R

(D) IR H w+f

e T e e € I S Hohd WIee ®

(A) ! BRI

(B) TRAA URrReeR
(C) waafes TR
(D) WifesH iR

F SR 1w W fram ©

(A) TU-HHR @y

(B) fefaffi fed = frem (=0 v &1
EIRERLY)

e ey fram

T | g 76

(©)
(D)

was stfveral () Fama €
(A) SfaeR 3T 1 G

(B) 1M &R drsmn & fog emem
(C) & & ofiehad v STTHR

(D) 39gw |eft
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AG 3

ELEMENTS OF ANIMAL
HUSBANDRY AND POULTRY

" FARMING

141. Which animal is commonly affected by

142.

143.

Rinderpest disease ?

(A)
(B)
©
(D)

Cattle
Sheep
Goat

All above

At which interval two batches of cows

must be purchased for starting a dairy

farm ?

(a)
(B
(C
(

—

)
D)

At 10 months interval
At 8 months interval
At 6 months interval

At 4 months interval

In cattle mouth instead of incisor teeth one

jaw carries a dental pad which is a hard

mass of fibrous tissue. Dental pad is

located on :

(A)
(B)
(©)
(D)

Upper jaw
Lower jaw
Both jaws

None of the jaws

AG 3

YITUT o e Ud Hape T

141.
ST ?

(A) TEv
(B) %S

(©) ==

(D) S Weft

142.
form et § @l =nfew ?

(A) 10 ¥TE & ST=aue |
(B)
©

(D)

8 HIE & 3= |
6 A8 & ST W
4 HTE & A o

143.

IET S E Rl IR 1

fora og | A-wemR AT WHRRET 9

T ot ¥ fre

Tiree Teel % T SIS § grmesR < TE
T ¥ o PR Sael W T we e
BT ® 59 2w 9 wed ¥ 9w T=a Y
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144. Indian breed of poultry which is famous

145.

146.

147.

for its fighting skills ?
(A) Kadaknath

(B) Aseel
(C) Giriraja
(D) Vanraja

Gerber’s method is used to measure :
(A) Fat % in milk

(B) Water content in milk
(C) Mineral content in milk

(D)

Protein content in milk

In incubator, chicken eggs are kept for

how many days ?
(A) 15
(B) 21
(C) 28
(D) 30

For successful dairy farming dairy cows
with what

inheritance are considered most ideal for

percentage of exotic

144.

145.

146.

147.

e | iR W P TR ST Ao &
% foaq s 872 '
(A) wEHTA
(B) T
(C) TriTst
(D) aCST

e fafy o g1 gy # A goaited fea
ST ?

(A) & gider
(B) T =Y |
(OERCEERERIETKIE]
(D) W =t A7

o Y e A T sid A e Rl
F fou T s e ?

(A) 15

B) 21

C) 28
D) 30

g grH sgad 3q fead gfavm fosed

YA () el g T gfs, weee
Td TY Seed o foT T9H SRy Al S

growth, reproduction and milk g7

production ?

(A) 50% (A) 50%

(B) 62.5% (B) 62.5%

(C) 75% (C) 75%

(D) 98% (D) 98%
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148.

149.

150.

Muscular portion between two front legs
in buffalo is called :

(A) Dewlap

(B} Brisket — ==
(C) Chest

(D) Poll

In a dairy processing plant, in order to
remove milk stone, which may be
deposited on a metal surface exposed to
heat during pasteurization is removed
by :

A) Phosphoric acid

(

(B) Sodium Bi-Carbonate
(C) Tri-sodium phosphate
(

D) All of the above

Milk is a white opaque fluid in which :

(A) fatis present as emulsion, protein
in colloidal suspension.

(B) fat is colloidal

suspension, protein as emulsion.

present as

(C) Both fat and protein is in emulsion.

(D) Both fat and protein is present as
colloidal suspension:

148.

149.

150.

i # g % <A W & AerE
AT SFeEeTal © ¢
(A) TTETHTSA

(B) seRasr

(C) Bt

(D) =g

UREESIYHE bt 9fshan o 999 S TEEHT0]

T |, S A99H & Hudh H SYHW F

HTg ! HWag T S g9 Tl (TR =)

&l geM & fora fre 9 9 o suaim foman <t

%7

(A) TIEHINE THE

(B) Wifeaw wrgwHEA

(C) IE-wIfeay wehe

(D) ST |t

T TH e H T%hs IR Wt g5 §

ooy .

(A) =€ GEEA (3HEEA) F BY H TE
T RIS THIE & ®9 § &
Bl

(B) T RIS FEIM 1 U2 IroeH
(39A) % &9 H @l T

(C)  ril o T W e ($HAH) %
w9 H @ T

(D) <F 99 TSGR RIAEEE g
& w9 H @
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151.

Zoonotic disease spreads from animals to
humans and humans to animals. Which
one of the following disease is not

zoonotic ?

152.

153.

(A) Rabies
(B) Anthrax

(C) Black Quarter
(D) Ebola

Percent composition of Casein and
Albumin in milk protein is roughly
around :

(A) 80% Casein, 10% Albumin
(B) 80% Albumin, 10% Casein
(C) 50% Casein, 50% Albumin
(D) 100% Casein, 0% Albumin

Regarding cleaning of dairy utensils and
equipments in a processing plant which
of the statement given below is false ?
(A) A good detergent must be non-
corrosive and non toxic.

(B) Detergents are usually a mixture of
more than cne compound.

(C) Synthetic detergents are poor
surface active agent and bad

151.

152.

153.

ST SR Ol § A U w9 age
H et 71 Fr= ° w0 SEfes T8
g2

(A) TEIS

(B) T (UM
(C) W T
(D) gelten

Fol gH S H ¥ FEA @ eah
gfererd frefafea & 4 #n e ?

(A) 80% HEH, 10% TTfHA

(B) 80% UTHR™A, 10% HEM

(C) 50% *EH, 50% Tedfaa

(D) 100% A, 0% Tesf

ST THER SR A SUR T waA

qE & gay H Frefafes sam § 9 9

1 e § 2

(A) T F7=s1 feesie IR dame (fad s
F ) iR R faden gm1 wrfed

(B) MR R fezsie s @ eifues wamafer
difitw (Ffawe FHSrs) | o4 B
gl

(C) M (foafew) feosic e was
g TSle iR TUe THHRRS gh

emulsifiers. g
(D) Hard water is not advisible to use (D) SR IYHU UF A1 I AIE FEHEE H
in cleaning dairy equipments and W 9T T IUFNT e O =fed |
utensils.
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154. Shelf life of a dairy product indicates a 154. Tt o SR 1 UCF T I8 SO ©

time period in which the product remains for o7 eI TR w9 aEE A fRa w9
safe for eating at room temperature. T GH Arg war g | e o ’\3 9 3T *T
Which of the p_rodui has highest shelf B ‘\ﬁ'(;q'? T o9 s1fie B 22

life ?

(A) Milk Powder (A) Y UESX

(B) Cheese (B) AR

(C) Cream (C) MW

(D) Curd (D) =&t

155. What is the standing space requirement 155. W et M W fAT 9y 918 F SR WY

for a pregnant cow under covered area B &t fRat sve g ey ?
in animal shed ?
(A) 20 - 30 square feet (A) 20-30 3 ®IT
(B) 25 - 35 square feet (B) 25-357% wie
(C) 100 - 120 square feet (C) 100 - 120 =l e
(D) 120 - 140 square feet (D) 120 - 140 = FIe
156. Anthrax is caused by which agent ? 156. T=Steg U1 (s% JIT) 1 HEH B 8 ?
(A) Bacteria (A) Gﬂﬁﬂﬂ
(B) Virus (B) ooy
(C) Parasite (C) TSt
(

D) Fungus (D) wge

157. In cattle and buffalo which teeth type is 157. 7t T8 ¥ o9 uy ¥ few TR # <A A

absent ? T S 2
(A) Incisor (A) FTHIESR
(B) Cannine (B) ST
(C) Premolar (C) W-HArR
(D) Molar (D) ¥R
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158. Milk

contains  which  simple

carbohydrate ?

(A) Lactose

159.

160.

161.

(B) Maltose
(C) Sucrose
(D) Fructose

For cleaning appliances used in dairy
processing plant a good detergent must

have :
(A)
(B) Ability to soften water

Alkalinity

(C) Good wetting power
(D) All the above

National
Board

“Operation Flood Programme” ?
(A) In 1970
(B) In 1972
(€©) In 1974
(D) In 1976

In which year Dairy

Development launched

Yellow colour of an egg is due to :
(A) Carotene

(B) Xanthophyll
(C) Anthocyanin
(

D) Vitamin B

158.

159.

160.

161.

T H I T A FrEleEge I W § 2

(C) T
(D) FwRE

T JHER SHE | SR il HER o

sy feesfe (vgw) o w0 70 @R

=g ?

(A)  eriE

(B) UM =l HAEH & H GHal (@RI
qreRfHT) :

(C) HaE ! e T Hl &

(D) 3T |t

form o ® Ul S far g X S
wTe T Y& foRe ?

A) 1970 ®
B) 1972H
) 1974 H
D) 1976 |

(A)
(B) Sreiiftra
(C) TAEEiE
(D) foaItda B
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162. What should be the amount of colostrum 162. T FGSd g & a@% ! W ﬁ’d‘ﬁ e o

to be fed to a newborn buffalo calf ? Tqam =nfew ?

__(A) 5% of calf's body weight — — (A) DS H IR UL HI5%
(B) 10% of calf's body weight (B) WSS F YRR 9R H1 10%
(C) 15% of calf's body weight (C) BT F IR ¥R F 15%
(D) 20% of calf’s body weight + (D) uSS % IR R H 20%

163. What should be the maximum number of 163. T& Vs o 1ireray frat Sear o TS A

“milch cows to be housed in one cow aﬁr@maﬁq?
shed ?

(A) 25 (A) 25

(B) 50 (B) 50

(C) 75 (C) 75

(D) 100 (D) 100

164. Hay and Silage making are twovery good ~ 164. ''¥"' Ua "' GRS’ 9MI, =R IRT F1 €

fodder production technologies. In these wga ot faftrl €1 g 9 F @ R
two moisture content of : RIEIN

(A) Hay is more (A) ¥ H iy Ot @

(B) Silage is more (B) eIt H a1fyk et @

(C) Both are equal (C) BT § =R Bt ¥

(D) Both do not have moisture content (D) A H T B e R
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165. The milk has many physical properties.
Which of the following property is
incorrect ?

166.

167.

(A)

(B)
(©)

(D)

Milk is heavier than water.
Fresh milk has pH 6.5 to 6.7.

Specific gravity of milk is marginally
higher than water.

Milk is slightly alkaline in nature.

Alveoli are the parts of which system of

animal body ?

(A)
(B)
©)
(D)

Digestive system
Respiratory system
Circulatory system

Reproductive system

Eggs that are not turned often in incubator

will not hatch because :

(A)

(B)

©)

(D)

The correct temperature will be
maintained on one side of the egg.

The correct humidity will be
maintained on one side of the egg.

The developing embryo will become
stuck to the shell membrane.

The developing embryo will not get
a good supply of oxygen.

165. T4 & %3 sdifaek T A §1 FH A PR W
o et & @ et e 2

(A) T I § e o1 el ¢ |
(B) TSI ¥ i pH 6.5 | 6.7 el B |

(C) 7 = faftre e (Wfafes ifee)
I § oren st g €

(D) 9 Fha 4 digr e B |

166. 3easiielt T3 YRR &% foha a3 % w1 § 2

(A) = A
(B) Y&gd a7
(C) ufE=rer

(D) IS 9

167. T5 37vg] hl 30 91 FH 7Y H TR
ToreT e ST, B9 Svel 4 oS el fperd €

iR :

(A) 3198 & T AR & 3fea aree fiera
7

(B) 31 & U IR 2 3fe sl fHerht
:

(C) o8 % Wi forrfea & @1 Yo 1ve
% foorh w1 il faeett & faves sm
gl

(D) ove & i fowmfaa & W@ oo =i
ATl oT=at X e fHet O R

Set - A
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168. Which of the following milk product has

169.

170.

171.

highest fat percentage by weight basis ?
(A) Cream |

(B): Cheese = —_—
©)
(D)

Curd
Ghee

Mating of animals of two different breeds
is called :

(A) Close inbreeding

(B) Line inbreeding

(C) Hybridization

(D)

Crossbreeding

Which of the following disease can only
be prevented by vaccination ?

(A)
(B) Metritis
(C) Bloat

Mastitis

(D) Foot and Mouth

World’s best poultry breed for egg
production ?

(A)
(B) Black Australorp

White Leghorn

(C) Sussex

(D) Orpington

168. =1 H | = W1 379 Seuie W @ 1 whaww

169.

170.

171.

(¥R SyTfRe) Fed exferer g & 2
(A) wems
®) TR

(C) =&t
(D) .Et

3 fafvs el % agedt & 9 qurm w
FEAE ¢

(A)  ¥H IS
(B) SRS TSHA
(C) gHHR

(D) HHw

e & @ g et =t Fae S
UF! ST HHAT S ?

(A)  oe I

(B) Trufyrreier

(©) =i

(D). gorm-Hew

81 ST % U 3 Y 9e gepe T
T

(A) R ATRH
(B) =P T
(©) wE=
(D) eIRfYTeR
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172. 9 29 FaaE § yfy o gfa =afw i &t

172. In India, Availability of eggs per person
per year averages currently : YR ST § 2
(A) 70 eggs (A) 70 g
(B) 120 eggs ~ (B) 120 #E -
(C) 150 eggs (C) 150 &S
(D) 180 eggs (D) 180 e
173. Which is the first glandular portion of 173. 9 ao‘ﬁm‘é LN & rEF 99 H gBel
ruminants digestive system ? PR $7?
(A) Rumen (A) &
(B) Reticulum (B) YfcHem
(C) Omasum (C) e
(D) Abomasum (D) TEHEH
174. Milk cream is used for making : 174. T4 9eTs o1 sqam e 8 9 e gy e
S H ST TR S R 2
(A) Cheese (A) AR
(B) Butter (B) w&Ed
(C) Condense milk (C) HSH gy
(D) Curd (D) <&
175. Which country is the largest producer of 175. g < ® it el =1 Seared erifues g
chicken eggs ? g?
(A) China (A) =M
(B) India (B) wr@
(C) Russia (C) =9
(D) Japan (D) ST
SPACE FOR ROUGH WORK / T& &1 & ford s
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176. In animals, which breeding system

177.

178.

179.

increases homozygosity in offsprings ?
(A) Crossbreeding

(B) _Close_inbreedgg

(C) Out crossing

(D) Grading up

A bacterial disease causing white
diarrhoea in young poultry birds :

(A) Pullorum

(B) Coccidiosis

(C) Ranikhet

(D) Pox

At which temperature frozen semen is
stored in liquid nitrogen for artificial

insemination ?
(A)
(B)  —190° Centigrade

—79° Centigrade

(C) —196° Centigrade
(D) —296° Centigrade

Lactometer is used to estimate :

(A) Specific gravity of milk

(B) Freezing point of milk
(©)
(D)

Boiling point of milk

Refractive index of milk

176.

177.

178.

179.

et H o IS s g e
e faerar & 2

(A) HH

(B) E
(C) e Hertor
(D)  ShHFIT YSiT

SIS FFEE e H W S STl G e
St T e W SR T e g E
(A) gEiRm

(B) whiwdifsaifaw

(©) TritEa

(D) =

Ftm Taiam ¥ fedtea o = frg aomm
WA e H Gofed o s $2?

(A)  —79 ¥=is

(B) —190° ®=TE
(C) —196° B=NE
(D) —296° "=NE

AR 77 W U 1 1 STRer Fhar S
€2

(A) Tafere T (wfafes Bfad)

(B) fewie forg

(C) wmafen fag (Iaem &1 w99)

(D) TY W STYEAIR
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180. Cfeam’céﬁ be sepafated from milk by :
-~ (A) Gravity: method
(BY — Use of cream separator equipment
(C) Both of the above
(D) None of the above

181. Crossing of unrelated pure bred animals
within the same breed, which have no
comumon ancestors on either side of their
pedigree upto 4 - 6 generations is called :
(A) Out crossing K
(B) Crossbreeding.

(C) Gradingup
(D) Line breeding

182. Water forms the largest fraction of milk
and ranges from :

(A) 80 - 90%
(B) 60 - 80%
(C) 50 - 60%
(D) 40 - 50%

183. What was the milk production of India
during the period 2017-18 ?

(A) 155.5 million tonnes
(B) 1654 million tonnes
(C) 1764 million tonnes

(D) 195.5 million tonnes .

180. T FETE Y orEr fohal S &
(A) TEe fafa |
~(B)— T ST T AT SR
©) wwmadRt
(D) SR H § HIE 9 T

181. 4 T 6 T3 H SwAES ed TF & T H
TR TG T Iyel % HE WAt

182. Y ¥ 1 Yo T ST B § W I TN
fope wicrer Bren € 2

(A) 80 - 90%
(B) 60-80%
(C) 50 - 60%
(D) 40 - 50%

183. |1 2017-18 H W 1 ¥ Seare foherm o ?

(A) 155.5 Taferam =
(B) 165.4 Tafera =
(C) 176.4 Tafermm ==
(D) 1955 fafeaT =7
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184. Age of cattle is determined by examining

185.

186.

the appearance and/or emergence of
permanent incisors from th gums. If
fourth pair of permanent incisors have
ea)tedgmpletay the probable age of
cattle would be :

(A) More than 5 yrs
(B)

©)

Approximately 2 yrs
Approximately 1 yr

(D) Below one year

To estimate age of cattle, methods used
are based on :

Rings of horn
Dentition pattern
Both of the above

None of the above

Which of the following is leguminous
fodder ?

(A) Maize
(B)

(©)

Bajra
Barseem

(D) Oat

184. AR &1 39 TYS ¥ T TTESR Tidl o

185.

186.

Suftafy sl S = St o fifa
1 ST B LA et S ¥ o TSk

TR 1 B ?

(A) 54 9 3IR

(B) oI 2 g
©

(D) THTE QTR

T 1 99

Tiraeht Tye W SE WW R ¥ oy
faftr w1 s 2

(A) Hii % st
(B) =il &1 ¥
(C) S <N
(D) wHie F & FE ot 7

Fretfafea 9 9 *F w1 wofier A #} Sof
H o § () 2

(A) eI

(B) SIS
(C) =&MW

(D) 3 (%)
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187. “Avikalin” is the crossbreed of which  187. ‘‘Sifaerela’’ wyIer =1 fopd Wil i FHhT

species of livestock ? T E?

(A) Cattle (A) ™

(B) Buffalo (By HH -
(C) Sheep ©

(D) Goat (D) W&

188. Which milking method may lead toinjury ~ 188. ¥ §& w1 fere faifer Y ol % e H S &
to the teats and hence least oAl ® T4 59 9978 g THh! 35!21:?1'{41 713'} Eq)
recommended ? STt § ? '

(A) Stripping () Tz

(B) Full hand milking (B) T &s fafehm
(C) Knuckling (C) TewieT

(D) Machine milking (D) wefA gr Tafee

189. What is the right time for inseminating a 189. HE § 3T % T W& fe@mg 7 % ) 4
cow after the onset of first estrus sign ? 1 T HA T TE T S 2
(A) Between 6 - 8 hours (A) ©: 9 3B HUS % HrE |
(B) Between 12 - 14 hours (B) 9RE ¥ HIgE T & e
(C) Between 18 - 20 hours (C) ASRE q g Foe & o4
(D) Between 24 - 26 hours (D) =g q T Hu F A4

190. Which Vitamin is almost absent in milk ? 190, g8 H % & faerfer & wmm @ =& it

®?2
(A) Vitamin A (A) faafdT A
(B) Vitamin B (B) faa@= B
(C) Vitamin C (C) faaim C
(D) Vitamin E (D) faefem E
SPACE FOR ROUGH WORK / T% &1 & fe& s
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191. “Phule Triveni” breed is cross of which

192.

193.

breeds of cattle ?

(A) Holstein Friesian X Sahiwal X Gir

(B) Holstein Friesian X Gir x
Tharparkar

(C) Holstein Friesian x Jersey x Gir

(D) Holstein Friesian X Jersey X
Sahiwal

Milk fat carries some associated
substances. These are :

(A) Cholesterol
(B) Vitamin A, D and E
(C) Carotene

(D) All of the above

What should be the ideal dry period for
pregnant dairy cow ?

(A) 30 days
(B) 60 days
(C) 90 days

(D) 120 days

191. "' T Foramit” et feret wiiaeita wreett o g

??

(A) EewdE Wi x e x fim

(B) EITER WP x iR x JRaRaR

(C) TeHd WIfad x st x iR
(D) Brewd Wi x sl x wifeara

192. 9 Y o9 % WY O Geife geref off e ¥

CEE

193. T T¥ferel} gETE T % 1w sieet s sty

1 B =R ?
(A) 30 fem
(B) 60 &
(C) 90 fga
(D) 120 fea

9210/ BE-AG/PP-M
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194. “Karan Swiss” is cross of which breeds ~ 194. ‘&t feag’”’ Trersita agett % oA Tl #
of cattle ? HehToT § 2
(A) Kankrej Cow X Brown Swiss Bull (A) FIHLS T X T Fad |
(B) Tharparkar Cow X Brown Swiss — (B) HRAEFTAMA X 5w wrs
Bull
(C) Sahiwal Cow X Brown Swiss Bull (C) HrfEdm M x 313 feord wis
(D) Gir Cow X Brown Swiss Bull (D) fiRTE x 1S, e |ig
195. Which of the following fodders is planted 195. frefafed 9 ¥ F |1 w7 S §H F 5
not by seeding but by root or stem cuts ? & dfew WS A T HN BB RGUICIES |
? 2
(A) Maize (A) R
(B) Hybrid Napier (B) ®mEfS® AR
(C) Oat C)
(D) Sudan Sorghum (D) gsH Qe
196. Which type of egg can be difficult to peel ~ 196. e T % i o S & 9% SHe! S
once hard boiled ? freprert # wfas et € 2
(A) A Stale egg (A) Th Hel SAve]
(B) A Quail egg (B) T&H HX ULl
(C) A Fresh egg (C) U TS 37vs]
(D) A Duck egg (D) Tk =9 3US]
197. In Gerber's method which are the  197. TR fafy# Fretfalfoa § @ a1 3w fman
chemicals used ? ST ?
(A) H,S0, and Amyl Alcohol (A) H,S0, Td TR Terhiera
(B) HNO, and Amyl Alcohol (B) HNO, TS THRES Terhiere
(C) H,PO, and Amyl Alcohol (C) H,PO, TE THISH TeIhiaTel
(D) Only Amy!l Alcohol (D) o TR TEThigrl
SPACE FOR ROUGH WORK / T% &t & {o& smg
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198. Which of the following fodders has  198. ffafaa ¥ @ frg =R g § T =1

highest protein content ? GIEIRCIECR IS

(A) Cowpea - - (A) @ifear —
(_B) Maize (B) #HEmI

(C) Sorghum (C) 9R=m

(D) Para grass (D) Ty

199. Shaeffers formula is used to determine : 199. W &% T 9

(A) Adult cattle’s body weight (A) =oE TE aysi w1 YRR YR 1 B
gl
(B) Adult cattle’s milk production (B) ok TiEft el bt grer Seare &
estimate IR B
(C) Adult cattle’s health status (C) wuew Tael e &1 e #wt
Teerfr <1 T =reran &1
(D) None of the above (D) SR H ¥ HE ft 78 |

200. Quality of milk given by a cow is affected 200, T g7 fedy T g4 T 7o 7 | Q frg

by : W Ffert Bt ¥ 2
(A) Health condition of the cow (A) TE &l T e
(B) Quality of animal fodder and feed (B) T w A WA o =W TE S H
given to the cow NUEKI
(C) Both (A) and (B) (C) (A) qer (B) S
(D) None of the above (D) SR H QA HIE off 72
-00o0- -00o0-
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